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1 | Convert followmg numbers as_speéffled co1 PO1,PO2,
VeV A —— )2 PO3,
'b) 11011101.1101=(----mrmmemm- )8 PO10,r012
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2 | Convert the following numbers from the given CcOo1 PO1,P02,
| ' base do the bases indicated PO3,
| '3} De:imal 225.225 to binary ,octal and PO10,PO12
| i hexzdecimal.
| ' b) 2inary 11010111.110 to decimal ,octal and
hexadecimal.
| ¢) Oc21 523.77 to decimal, binary and
L nevzozcimal.
; 4! Hevzdecimal 2AC5.D to decimal ,octal and
| | birary.
| 3 Expres nIIowmg functions in a sum of minterms | CO2 PO1,PO2,
| and preduct of maxterms. PO3,PO4
31 FIA B0 )=AB'C PO10,P011,PO1 |
:\ =0,y 2)=Y zHWXY +WXZ AW X Z 2 |
4 Nesign combinational circuit of CO2 PO1,PO2,
(A full adder PO3,PO4
'p w2 adder. PO10,P0O11,PO1
5  State and prove D Morgan's theorem fortwo | CO2 PO1,PO2,
and thiree Boolean literals. | PO3,P04
PO10,P011,PO1
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Hence , A-B:C =Z+B+C .4
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